

# دعوة عامة

67/2026/2

## توفير اجهزة قسطرة قلبية احادي وثنائي

1- شركة الاتقان المجهزة للاستيراد والتصدير

مكتب الاتقان

### 3. Price Schedule for Goods to be Imported from Abroad

1 Sched ule No. (a)	2 Item No. (b)	3 Brief Description of Goods	4 Quantity offered and physical unit	5 Country of Origin	6 Unit Price ]Bidder may insert permissible Currency[			7 Total price on DDP at End- users' site along with Incidental series 3X5 (D)
					DDP Price / End User	B( Emergency services as stated in requiremen t schedules (C)	DDP Price / End Users with emergen cy services B+C=D	
1		Radiographic/Fluoroscopic Systems, Angiography/Interventional; Cardiovascular Single Plane Cathlab	5	CN	898,560 \$	Not Applicabl e	Not Applicable	4,492,800 \$
2		Radiographic/Fluoroscopic Systems, Angiography/Interventional; Cardiovascular Biplane Cathlab	13	DE	1,576,260 \$	Not Applicabl e	Not Applicable	20,491,380 \$

Amount of "24,984,180 USD "

Twenty-Four Million Nine Hundred Eighty-Four Thousand One Hundred Eighty us

### Alternative Unit

1 Sched ule No. (a)	2 Item No. (b)	3 Brief Description of Goods	4 Quantity offered and physical unit	5 Country of Origin	6 Unit Price ]Bidder may insert permissible Currency[			7 Total price on DDP at End- users' site along with Incidental series 3X5 (D)
					DDP Price / End User	B( Emergency services as stated in requiremen t schedules (C)	DDP Price / End Users with emergen cy services B+C=D	
1	Alternative	Radiographic/Fluoroscopic Systems, Angiography/Interventional; Cardiovascular Single Plane Cathlab	5	DE	974,375 \$	Not Applicabl e	Not Applicable	4,871,875 \$

No.	Kimadia Description	Canon Model	Qty.	Unit Price	Total Price
1	Single Plane Radiographic / Fluoroscopic System.	Canon Alphenix Core+ Floor	5	750,000 \$	3,750,000 \$
	Single Plane Radiographic / Fluoroscopic System	Canon Alphenix Sky Option Ceiling suspension	5	800,000	
2	Biplane Radiography Afluoroscopic System.	Canon Alphenix Biplane	13	1,350,000 \$	17,550,000 \$
Total Price				21,300,000	Twenty-one million three hundred thousand USD \$

1		2		3	4	5				6C	
National No.	Seller Code No.	Item No.	Brief Description of Goods ##		Quantity offered and physical unit	Country of Origin	Price per physical unit [ Bidder may insert permissible Currency]				Total price on CIP at End-users' site along with Incidental Services 3*5(d)
			Product	Packing Unit Size			CIP price [Bidder may insert place of destination]	DDP at End-users' site	incidental Services as defined in Schedule of Requirements	DDP at End-users' site and Incidental Services	
(a)	(b)	(c)	(a)	(b)			(a)	(b)	(c)	(d) = ((b) + (c))	
n.a.		1	Azurion 5 M12	[Insert]	5	The Netherlands, China, EU, USA	972,000 USD				4,860,000.00 USD
n.a.		2	Azurion 7 B20	[Insert]	13	The Netherlands, China, EU, USA	1,525,846 USD				19,835,998.00 USD

Grand Total of Bid price of our offer: USD (24,695,998 ) Twenty-four million six hundred ninety five thousand nine hundred ninety-eight dollars

مكتب البهجة  
شركة Philips

مكتب البهجة  
شركة Philips

٤- شركة مجموعة المشرق الطبية

مكتب ارض المشرق العلمي

<b>Item</b>	<b>Model</b>	<b>Unit Price USD</b>	<b>Qty</b>	<b>Total Price USD</b>
Single Plane Cath Lab	GE Healthcare Allia IGS 320	800,000.00\$	5	4,000,000.00\$
<b>TOTAL OFFER PRICE (US DOLLARS)</b>				<b>4,000,000.00\$</b>
<b>FOUR MILLION US DOLLARS ONLY.</b>				